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Problem
Let [ be the space line

r—5 y—6 2z-—7

2 3 4
and let m be the plane 2o +y — 22 = 1.

Compute the matrix giving the pararell
projection F' onto [ along 7, and the
projection G onto m along .

Solution
1 0
The vectors vi = | =2 |, va=1] 2
0 1
2
generate m, and the vector v3 = | 3
4

generates [.

Since these three vectors are basis of R?,
it is sufficient to calculate the images of
these vectors under F' or G.

(The rest is omitted)
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and let ™ be the plane 2z +y — 22 = 1.

Compute the matrix giving the pararell
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Linear transformation is determined
by the image of basis vectors.




